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Choose the correct option in the following, mention the correct option with the 10]
answers in the answer book.
Ifrestaurant has 6 different desserts, then customer can choose 2 of the desserts

(a) 6 (b) 4 (c) 12 (d) 15
A graph G is____ if each vertex has the same degree.
(a) disconnected (b) regular {(c) complete (d) connected

If the regression coefficient bXY >, then

(a) bYX =0 (b) be >0 (c) bYX <] (d) None of these
Which of the following is not the measure of Dispersion

{(a) Range (b) Standard deviation {c) Mode (d) Mean deviation

Edges connecting the same end points are called

(a) trivial graph  (b) multigraph (¢) loops (d) multiple edges
Chromatic number is the number of color required to paint graph G.
(a) total (b} average (¢) minimum (d) maximum

I the Karl-Pearson’s correlation coefficient r = 1, then the correlation is

{a) Zero correlation ‘ (b} Perfect Positive

(c) Perfect Negative (d) Partial Positive

The number of edges in the complete graph Kz is

(a) 66 (b)24 (c)144 (d) 12
In a coloring of a map M, one required to color the ..o
(a) edges (b} vertices (c) regions (d) none of these.
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Q:3(a)

Answer the following in short (Attempt any Ten). [20]
Draw a connected map of a graph with 4 vertices and 5 regions,

Draw 3-regular graph with 6-vertices,

Find cut-vertices and bridges of a graph Ks and Kz
Explain the positive correlation with two examples.

Draw ai[l the different Spanning trees of a graph:

Define range and quartile deviation.

State Euler’s formula with at least two examples which verifies it

Find the number of ways-that a party of seven persons can arrange themselves
around a circular table,

Define complete graph. Is Kz Complete?

Find the number n of distinct permutations that can be formed from all the
letters of each words SURGICAL and STRIKE.

Find standard deviation of the observation 1,2, 3, 4, 5, 6,7,8

A class contains 10 students with 6 nmen and 4 women, Find the number n of
ways to select a 4-member committee with 2 men and 2 women,

[5]

Find the incidence matrix all? adjacency matrix for the following graph
v
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Q:3{c} Define connected graph. Which of the following graphs are Connected? {5]

[ » ~ . ]
(d) Consider the graph G as {5]
v Va v {i) Find all simple paths from v, ta vg,
! : {ii) Find all trails from vy to v,
(iii} Find d {v1, vs).
(iv) Find all cycles in G.
Vs
V4 VG

Q:4(a)

Describe Welch-Powell algorithm for painting a graph and give one example
of it.

(b} State Euler's formula for planar graph. Verify Euler’s formula for the following graphs: [5]

OR
Q:4(c)

Find chromatic number for the following graphs using Welch-Powell
algorithm:

Paint the following maps with minimum number of colors:

ZN7

Q:5(a) Find the number of ways that four mathematics books, three history books, three 5
chemistry books and two sociology books can be arranged on a shelf so that all
books of the same subject are together.
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Q:6(c)

(d)

A debaéing team consists of 3 boys and 3 girls. Find the number of ways they can
sitina %‘ov{f where :(a) there are no restrictions; (b} the boys and girls are each to

sit together; (c) just the girls are to sit together.

OR

Find the number m of five letter “words” containing two different vowels and

three different consonants that can be formed from the 26 alphabets. Also find m

if the words must hegin with B,

Simplify: (1) = + 1! (2)
(

n—-r-1!

(n-1¥
{n+ 2

Find quartile deviation for the following data

Class 0-15

15-30 | 30-45 | 45-60-

60-75 | 75-90

90-

105

f 8

26

30 45

20

17

Calculate Karl Pearson’s coefficient of correlation between x and ¥ from the

following data:

10]16{9110712 13119
9 |4 9 11113 | 8
OR

.Calculaté the Standard Deviation the following table giving the age distribution of
542 members.

Age in year

20-30 | 30-40 40-50 | 50-60 | 60-70

70-80 | 80-90

No. of Members

3 61

132 15

3 140

51

2

For folloiwing data find mean and mode for the following marks distribution.

3

()

Marks 10-20 [ 20-30 | 30-40 | 40-50 | 50-60 | 60-70
No.of students | 10 |18 127 20 118 |6
N
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